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Associative Property of Addition

S2

In a baking session, Emily used 6 cups of �our, 4 cups of milk, and 3 cups of sugar.

cups used easier?

During a workout, Mike did 5 sets of push-ups, 5 sets of sit-ups, and 1 set of squats.

How can Mike apply the associative property to !nd the total number of sets of exercises?

1) 2 + 1 + 9 =

=

+ 2)

3) 4)

5)

10

3 + 7 + 8 =

=

+10

4 + 6 + 5 =

=

+10

6)

8 + 2 + 9 =

=

+ 9

3 + 9 + 1 =

=

+37 + 5 + 5 =

=

+7

How can Emily use the associative property to make calculating the total number of

7)

8)

Apply the making ten strategy and use the associative property to find

the sum.
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